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Chapter 8 Hand-in Assignment — Logarithms

Name: ) '<C (;L

1. Describe how the graph of each logarithmic function can be obtained from the graph of y =log, x.

a) }’21081(—5(X+4))—1 Y:-?{c-[— 4c/’°1;;( 3—&1.13
Y4 lef

1 down
by y=2log, (x-7)+4 \/E Ly 2.
-7 ry-'j}l‘l‘
T up

2. For each graph, the solid curve is a transformation of the dashed curve. Write the equation of each
solid graph.

a)

y = [°3‘f[>() — 1

b)
teflect acoss x-ants

\VE Ly3

y; ~311>_92 (x)
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Change
Lorm

3. Given the base function y =log, x and its transformed function, yM[ do the
following:
e List the transformations that will occur and i . . - ..... ..... i . FR .::..‘ ..... FR . . I S
give the mapping notation ] i ] ] ] ; ]

VE 2 .
efleck agu oK
4 left
| down

(x

Complete the tables, showing 5 key points for
each table. Include mapping notation on the
table heading.

\ohx original

___________ E

ry) — ( x-4, —2_9—-;)

y ==alog, (xr)~\ o

% o -l y;b”z(liv _3’/2 ]
L1 0 yzkel AL
L2 L yrkes? el T
L2 | ye ket | 0[5 |
.g.z,jr‘l"ﬂzg .Li,—7.
® On the provided grid, sketch and label the original and transformed graphs.
e For thunction, give
- Domain {x)x‘>—"})X6W‘}
- Range {y]y€77\3
- The equation of its asymptote X=~4
- The coordinates of its x-intercept and y-intercept
X~ rat — nt
Yot 1;: 0 et X=0
yy~1
0= —2]092()(*”1) -\ y‘ = ~R g, (o+
) = =29, (x+4) Y= e |°97.U) -
N ) - 2 (D -~
-\ < \092 (X+Li y"
Z .y
- = =T~
= x+4 &
% 1); té = -5 (O/ FS)
2 -y =X
\ =
Xz —=—<4 =
NEN
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4. The graph of y =log, x has been transformed as described below. Give the equation of each

transformed function:

a) y =log, x is expanded vertically by a factor of 4, expanded horizontally by a factor of 3, reflected

across the y-axis, and is translated 2 left and 5 down.

\04[ = 4 1093 ("%“(X"—:A>

b) y =log, x is compressed vertically by a factor of %2, stretched horizontally by a factor of 8, reflected
across the x-axis, and is translated 3 right and 6 up.

y=-L log, (—%(x—s)) A

5. Write in logarithmic form.

a) 47 =0.0625 b) S=r+6 c)e' =8
S)= -2 r+e)=3 =X
log,, (0-062 log ¢ ¢ ) \n 3
6. Write in exponential form.
a) log,512=9 b) In(16) =1 c) log,(a—4)=b
9 t b
2 =512 e =t 2" = a-4

7. Use the definition of logarithms to find the value of each expression below

1 .
a) log, 81 :-’—f b) 1 ,J[_] = \og 3>
’1 %-Csma 3= g1) e = *((4’35 = ' -3 ‘
= log,, -

8. Solve the following equations for x. If answer is not exact, give it correct to 2 decimal places.

a) log, (x—8)=5 b) log,(ls):%
} "‘fs = X-% ckmg(}
Jo24 = X-8 EYNC U3
rarse beTh C)( = lg>
! x= 1022 ) s do cecprc
exgoon
¢) In(x)+In(8) =In32 d) log, (3x7 ]—log(,(,\‘“)= 2
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